

$$1! = 1$$

$$1! + 3! = 4$$

$$1! + 3! + 5! = 14$$

$$1! + 3! + 5! + 7! = 144$$

$$(2! + 4! + 6! + \dots + 24!)$$

(۷)

$$\frac{2+4}{2} = 3$$

ارithmetic series

$$4 \times 7 = 28 \Rightarrow 26$$

الف) $\sqrt[k]{\frac{1}{k+\sqrt{2}}} = \sqrt[k]{(1+\sqrt{2})^2} = \sqrt[k]{(k+\sqrt{2})^{-1} (1+\sqrt{2}+2\sqrt{2})} = \sqrt[k]{2}$

$$\frac{1+2\sqrt{2}}{k+\sqrt{2}} = \frac{2(k+\sqrt{2})}{(k+\sqrt{2})} = 2$$

(۲) ✓

ب) $\frac{\sqrt{2+\sqrt{3}}}{\sqrt{2}(\sqrt{3}+\sqrt{2})} = \frac{1}{\sqrt{2}} \frac{\sqrt{3-\sqrt{3}} - \sqrt{3+\sqrt{3}}}{\sqrt{2}} \times \frac{\sqrt{2}}{\sqrt{2}} = \frac{\sqrt{4-2\sqrt{3}} - \sqrt{4+2\sqrt{3}}}{2}$

$$\frac{\sqrt{(\sqrt{3}+1)^2} - \sqrt{(\sqrt{3}-1)^2}}{2} = \frac{|\sqrt{3}+1| - |\sqrt{3}-1|}{2} = \frac{-2}{2} = -1$$

الف) $\frac{\sqrt{k} + \sqrt{p}}{\sqrt{k} + \sqrt{p}} - 2(\sqrt{3}-1)^{-1} = \frac{(2\sqrt{p} + 3\sqrt{3})(\sqrt{2} + \sqrt{3})}{(\sqrt{p} + \sqrt{3} - \sqrt{3} \times \sqrt{2})(\sqrt{2} + \sqrt{3})} - \frac{2(\sqrt{3}+1)}{2}$

فیدوفیون

$$\Rightarrow \sqrt{2} + \sqrt{3} - \sqrt{3} - 1 = \sqrt{2} - 1$$

(۲) ✓

ب) $\frac{3\sqrt{3}-1}{k+\sqrt{3}} + \frac{1}{p-\sqrt{3}} = \sqrt{3}-1 + 2 + \sqrt{3} = 1+2\sqrt{3}$

$$\frac{3\sqrt{3}-1}{k+\sqrt{3}} \times \frac{k-\sqrt{3}}{k-\sqrt{3}} = \frac{12\sqrt{3}-9-k+\sqrt{3}}{14-3} = \frac{13\sqrt{3}-13}{13} = \frac{13(\sqrt{3}-1)}{13} = \sqrt{3}-1$$

$$\frac{1}{p-\sqrt{3}} \times \frac{p+\sqrt{3}}{p+\sqrt{3}} = \frac{p+\sqrt{3}}{k-3} = \frac{p+\sqrt{3}}{1} = p+\sqrt{3}$$

الف) $\frac{\sqrt{1+\sqrt{2}} + \sqrt{\sqrt{3}-1}}{\sqrt{\sqrt{3}-\sqrt{2}}} = \frac{\sqrt{(\sqrt{3}+1)^2} + (\sqrt{3}-1)^2}}{\sqrt{\sqrt{3}-\sqrt{2}}} = \frac{\sqrt{2\sqrt{3}+2\sqrt{2}}}{\sqrt{\sqrt{3}-\sqrt{2}}} \Rightarrow 2 + \sqrt{2} - 2 = \sqrt{2}$

ب) $\sqrt[k]{\frac{1}{k}} \times \sqrt[k]{142} \times \sqrt[k]{k^4 \times 2}$

$$\sqrt[k]{\frac{1}{k}} \times \sqrt[k]{142} \times \sqrt[k]{k^4 \times 2} = \sqrt[k]{\frac{1}{k} \times 142 \times k^4 \times 2} = \sqrt[k]{142 \times 2} = 14$$

(۲) ✓

$$\frac{w^n (1 + w + w^2 + w^3 + w^4 + w^5)}{r^n (r^{-1} + r^{-2} + r^{-3} + r^{-4} + r^{-5} + r^{-6})} = \frac{w^n ((w^6 - 1) \div (w - 1))}{r^{n-1} \left(\frac{r^6 - 1}{r - 1} \right)} = \frac{w^{n-1}}{r^{n-1}} \quad - \text{د}$$

د ✓

$$\boxed{n=1}$$

$$(a^r + b^r - r^r ab)^r (a^r + b^r + r^r ab)^r = t(r - \sqrt{r}) \quad - \text{د}$$

$$\begin{aligned} & (\sqrt{4+r} + \sqrt{4-r} - r\sqrt{r}) (\sqrt{4+r} + \sqrt{4-r} + r\sqrt{r})^r = \\ & \sqrt{4+r} + \sqrt{4-r} - r\sqrt{r} \Rightarrow \sqrt{4+r} + \sqrt{4-r} + r\sqrt{r} - t(r - \sqrt{r}) = (r - \sqrt{r})^r \\ & \Rightarrow r + 1 - t(r - \sqrt{r}) = r - 1\sqrt{r} \end{aligned}$$

جواب: $t = r$

$$\left(\left(a + \frac{1}{a} \right)^r - r \right)^r = \left(a^r + \frac{1}{a^r} + r - r \right)^r = \left(a^r + \frac{1}{a^r} \right)^r = \left(r - \sqrt{r} + \frac{1}{r - \sqrt{r}} \right)^r = \left(r - \sqrt{r} + r - \sqrt{r} \right)^r =$$

$$r^r = (r^r)^r = r^{r^2}$$

$$\boxed{t=r}$$

د ✓

$$A = \sqrt[r]{\kappa \sqrt[r]{1q}} \left(\frac{1}{r} \right)^{-\frac{\kappa}{r}} = \frac{r}{\kappa} \times r \times \frac{\kappa}{1q} \times r = r \cdot \frac{\kappa}{1q} = r^r \quad \text{--- 1}$$

$$(r \times \kappa)^{-\frac{1}{r}} = r^{-1} \left(\frac{1}{r} \right) \quad \text{--- 2}$$

$$\sqrt[r]{\frac{1}{a^{\frac{1}{r}}}} = rV \quad \frac{1}{a^r} = rV \Rightarrow a = \frac{\sqrt[r]{r}}{r} \quad \text{--- 3}$$

$$\frac{\frac{1}{a} - r}{1 + \sqrt[r]{r}} = \frac{\frac{q}{\sqrt[r]{r}} - r}{1 + \sqrt[r]{r}} = \frac{\frac{q\sqrt[r]{r}}{r} - \frac{q}{r}}{1 + \sqrt[r]{r}} = \frac{\frac{q}{r}(\sqrt[r]{r} - 1)}{1 + \sqrt[r]{r}} =$$

$$\xrightarrow{\text{ضرب الجزء}} \frac{r(\sqrt[r]{r} - 1)^r}{r} = \frac{1r - q\sqrt[r]{r}}{r} = \frac{r - r\sqrt[r]{r}}{r} \quad \text{--- 4}$$

$$a + a - a + r = r\sqrt[r]{a+n} + \sqrt[r]{n-r}$$

$$\frac{a+r}{r} = \sqrt[r]{a+n} + \sqrt[r]{n-r} \Rightarrow \sqrt[r]{n+a} + \sqrt[r]{n-r} - r = \frac{a+r-r}{r} = \frac{a}{r} \quad \text{--- 5}$$

$$(a^r + b^r - rab)^r (a^r + b^r + rab)^r = t(r - \sqrt[r]{r}) \quad \text{--- 6}$$

$$\left(\left(\sqrt[r]{1q-r} \right)^r + \left(\sqrt[r]{r\sqrt[r]{q+r}} \right)^r - r\sqrt{(\sqrt[r]{q-r})(\sqrt[r]{q+r})} \right) =$$

$$r^r - 1q\sqrt[r]{r} = t^{\frac{r}{2}}(r - \sqrt[r]{r}) \Rightarrow \underline{t = 1q} \quad \text{--- 7}$$